g () 00

O3 53 (3] Seolizd il 00 JSA5 T (Sl 350 s 0 S s 51 (3550 s i S

v(t) \.«"".Zgh (t)
q(t) av(t)

;—’{ Ah(t)] u(t) — q(t)

A1=75 cm?
A2=75 cm?
A3=100 cm?
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hlmax=50cm
h2max=50cm
h3max=40cm
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h1(@)=25cm
h2(0)=24cm
h3(0)=25cm

0B Sa9 polhe b S ke T (5319 09 9 g Ole) )3 ) s - 1

1l
(Sl 4l Y o (5805l 8l

s3k = v3k + €3k where €3k~N(0,1) [cm/s]

w1k~N(2,0.05) [3 cm3/s]
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Case 1: x3 track x3), = 20 * (1 + 0.15 * cos(0.1 k))
Case 2: x2 track x2; = 25
Case 3: x2 track x2;, = 20 AND x1 track x1,, = 20 AND x3 track x3;, = 25 * (1 + 0.03 * sin(0.1 k))
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x1 from the desired value x1, of 0.1€/s,
x2 from the desired value x2}, of 0.5€/s,
x3 from the desired value §§k of 1€/s,
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